Al

B1

C1

D1

E1

F1

A2

B2

C2

D2

E2

F2

A3

B3

C3

D3

E3

F3

SAETFx L) —7

[BF IERL)—7]

. AAl)— 7 1|%-F| 2|us-n| o|lesr| B | B
x-F 3|<_)|0 3|(_)|1 2mox 1

2| HEE-B# 0|?|3 0|?|3°’*” 3
3| ER-EE 1|?|3 3|(_)|0 feix 2
. BBI!)—7%] | 1|ausn| o|smn| s|men| B |iEk
r| BAEE-1F 3|(_)|21|?|3“’“” 3
2 | PGB 2|?|3 3|(_)|2‘””” 2
3 % - 1 3|(_)|1 2|?|3 AL
. CCl)—24 | 1|axn| ofmrms| g|wmes| W8 |t
=R Rt 3|c_)|1 3|C_)|1 20 1

2 | HE AT - 1R 1|?|3 3|C_)|1 fots 2
s |RIR BRI ooy N (0727 8
. DD!)—4" | i[mess| ofmus] ofma—s| mox [nms
VI BERR-EF 3|C_)|2 0|?|3‘”’”“ 2
2 | HIFEE - BF 2|?|3 2|?|3°”’“‘ 3
s | HIFE— -8 3|c_>|0 3|c_)|2 200 1
. EE!)— 7 1|sran| o|menn| 3|umm| BB | IEE
HI EFF 2|?|3 2|?|3°”’”‘ 3

2 | KRR E-B 3|c_>|2 1|?|3“*1ﬁ* 2
3| S2H-15 3|c_>|0 3|C_)|1 2m0x 1
. FEV—4 | t]me| o|sm| afwm] ming | 1Bt
L RBIR= -5 3|<_)|O 3|(_D|22”*°” 1

2 KR -1m 2|?|3 0|?|3°”*““ 3
s |8E WS [T totsl 2




